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Fundamental Mechanics: Group Exercise 1

22 August 2025

Names:

Phys 131
Fall 2025

1 Rotating object

The instructor will describe a demonstration, that each group can do. Follow the instructions
and do the demonstration. No written response is needed.

2 Moving man animation

An animation shows a man moving horizontally. The table Time

Position | Velocity
provides data for the positions and velocities of the man 00s | 40m | —6.0m/s
at various times. 1.0s | ~0.5m | —3.0m/s

a) Does the velocity of the man stay constant, increase or 20s | —20m | 0.0m/s
decrease during the period from 2.0s to 4.0s? By how 3.0s | —0.bm | 3.0m/s
much does the man’s velocity change every second? 4.0s 4.0m 6.0m/s

b} Does the velocity of the man stay constant, increase or decrease during the period from

0.0s to 2,087 By how much does the man’s velocity change every second?
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larger? Explain your answer.
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Determine the average acceleration of the man from 0.0s to 2.0s.
Determine the average acceleration of the man from 2.0s to 4.0s.

Determine the average acceleration of the man from 1.0s to 3.0s.
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Does the man have zero or non-zero acceleration from 1.0s to 3.087
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If the speed of an object is larger, does this automatically mean that the acceleration is
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